SESSION 2017 LVBAEOS

san. CONCOURS COMMUNS

wr- POLYTECHNIQUES

EPREUVE COMMUNE - FILIERES MP - PC - PSI - TSI - TPC

LANGUE VIVANTE B :
ANGLALIS - ESPAGNOL
L’épreuve de langue vivante B est obligatoire pour PEEIGM Nancy (filieres MP, PC et PSI)
Mercredi 3 mai : 17 h 30 - 18 h30

N.B. : si un candidat croit repérer ce qui parait étre une erreur d’énoncé, il le signalera par écrit :

- en cochant la case 40 A (1" ligne) ;

- en expliquant au verso de la grille réponse les raisons des initiatives qu’il a été amené a prendre et
poursuivra normalement son épreuve.

L’usage d’un dictionnaire et de machines (calculatrice, traductrice, etc.)
est strictement interdit.

INSTRUCTIONS GENERALES

Définition et baréme :

QCM en trois parties avec quatre propositions de réponse par item.

L. Compréhension : 12 questions (10 points sur 20)
IL. Lexique : 12 questions (5 points sur 20)
I11. Compétence grammaticale : 15 questions (5 points sur 20)

Réponse juste : +3
Pas de réponse : 0
Réponse fausse ou réponses multiples : —1

Instructions :

Lisez le texte et répondez ensuite aux questions.

Choisissez parmi les quatre propositions de réponse (A, B, C ou D) celle qui vous parait la mieux
adaptée. Il n’y a qu’une seule réponse possible pour chaque item.

Reportez votre choix sur la feuille de réponse.

Index “alphabétique” :
Anglais : pages2a5
Espagnol : pages 6 a 10
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ANGLAIS

A SURGERY CENTER THAT DOUBLES AS AN IDEA LAB

From the moment patients register at Memorial Sloan Kettering Cancer Center’s new $300
million, state-of-the-art outpatient surgery center on the Upper East Side of Manhattan, they will
be taking part in a test bed for emerging ideas in patient experience design, health care
technology and data tracking. Instead of waiting in a long line to register, patients at the new
center, the Josie Robertson Surgery Center, will be handed plastic tracking badges that will
broadcast their locations in real time, allowing intake coordinators to come directly to them
wherever they are sitting. Inspired by modern hotel lobbies and co-working spaces, the family
waiting room has semiprivate seating areas and mobile device charging stations. And for people
who become antsy while their loved ones are in surgery, there is an Xbox nook for fitness
activities.

Operating rooms, too, incorporate “the most advanced technology,” according to marketing
materials, including the latest surgical robots and “super-high-definition monitors” to display
anatomical imaging. Other innovations, while seemingly sensible, could have unintended
consequences. For one thing, administrators intend to update the traditional practice of asking
patients to walk around soon after surgery. They say they plan to use patients’ locator badges as
activity monitors, allowing medical teams to quantify and analyze the distances patients walk. It
is a step that may make some patients feel more in control of their recovery — while others may
feel more burdened by the added surveillance.

“We don’t know what the data means, because no one has ever measured it before,” Dr. Brett A.
Simon, an anesthesiologist who is the director of the surgery center, told me in an interview this
month at the new building. Still, he hopes the novel data might eventually be used as a
benchmark to help distinguish patients who are recovering on schedule from those who have pain
or other symptoms that need to be managed. “Maybe there’s a predictive value,” Dr. Simon says.
Or maybe, like billions of other data points collected by devices, the distance measurements will
prove to be mere noise.

Across the country, leading medical centers are trying new approaches to technology and
information management with the aim of increasing efficiency, reducing costs and assuring
health care quality. Because competition to attract patients is fierce, some of the same medical
centers are also engaged in a marketing arms race to out-tech one another, promoting their new
tools and systems with terms like “most advanced,” “pioneering” and ““cutting edge.”

But this race to innovation, bioethicists say, has created a gray area. While federal regulations
require researchers to obtain patient consent for participation in clinical trials for novel drugs and
devices, hospitals can freely enact internal quality improvement exercises without consent — even
if there might be consequences for patient care. Medical centers typically do not inform patients
every time they use them to test some new health app, or nursing staff reduction, or data analysis
technique — changes that may or may not ultimately benefit the patient’s health.

“It is clearly a blurry space,” says Nancy Kass, a bioethics professor who is the deputy director
for public health at the Johns Hopkins Berman Institute of Bioethics in Baltimore. “It doesn’t
matter if it’s quality improvement or research. The questions we should be asking are: Should we
be talking about it? What should we be telling patients about it? What do we know about it that
makes us think that it works? What do we know about it to suggest that it is safe, or might be
risky, or have some uncertainties?”
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Administrators at the Josie Robertson outpatient surgery center describe it as a laboratory for
continuous improvement, a place where doctors, nurses and staff will be encouraged to rethink
standard practices and try new techniques to improve patient care. This learning lab approach
comes after a multiyear innovation effort at the main Memorial Sloan Kettering campus, also on
the Upper East Side. So far, about 10,000 patients have gone through the program. But doctors
typically do not tell patients that they have been selected for a more streamlined approach to
surgical recovery, Dr. Simon says. That is because the actual surgery and medical treatments
patients receive have not changed, just related practices. [...]

Starting next month, doctors at the Josie Robertson center will perform those cancer surgeries as
short-stay outpatient procedures. And administrators say they plan to use the center to further
hone their approach, although Dr. Simon said they have not yet decided how they are going to
explain the continuous improvement techniques to patients. [...]

Adapted from The NewYork Times
December 26, 2015

I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

1. From line 1 to line 10, it should be understood | 5. From line 11 to line 18, it should be
that: understood that patients will be asked to move
(A) The patients have to pay $300 million. around:
(B) The research has cost $300 million. (A) only when accompanied.
(C) The new surgery center has cost $300 million. (B) in their bedroom only.
(D) The Memorial Sloan Kettering Cancer Center | (C) with their activities being monitored by a
has cost $300 million. system.
(D) on a doctor’s prescription.
2. From line 1 to line 10, it should be understood
that all the patients coming to the center: 6. From line 19 to line 25, it should be
(A) are volunteers. understood that the data collected:
(B) are operated on a test bed. (A) will not be exploited.
(C) need a test bed. (B) may be stored in a specific computer.
(D) will be used as guinea pigs. (C) will instantly be studied.
(D) may help assess the patients’ recovery.
3. From line 1 to line 10, it should be understood
that after arriving at the center, the patients: 7. From line 26 to line 30, it should be
(A) will have to fill in a form at the reception. understood that advanced technology:
(B) will have to give out their badge. (A) is little used in other medical centers.
(C) will automatically be tracked with a badge. (B) is not profitable at all.
(D) will have to dial a specific phone number. (C) may improve the service provided to the
patients.
4. From line 1 to line 10, it should be understood | (D) is not a source of competition.
that the patient’s family:
(A) are not allowed in. 8. From line 31 to line 36, it should be
(B) have to stay in the patient’s room. understood that:
(C) can wait in a specific area. (A) Federal legislation is not always respected by
(D) cannot practice any activity inside. hospitals.
(B) Patients are well informed about their rights.
(C) The patient’s health is a priority.
(D) The patient is involved in the decision making.

3/10



9. From line 37 to line 42, it should be

understood that this tech breakthrough:
(A) raises many questions.
(B) is ethically acceptable.
(C) will definitely be efficient.
(D) will allow total transparency.

10. From line 43 to line 50, it should be

understood that the learning lab approach:
(A) is criticized by some doctors.
(B) will force nurses to change their practices.
(C) will help reduce the staff number.
(D) should enhance patient care.

11.
(A)
(B)
o
12.
(A)
(B)
©
(D)

From line 43 to line 50, it should be
understood that:

Medical treatments have
improved.

Surgery methods have changed.
Patients ask for more secure surgery practices.
The associated practices have been altered.

largely been

From line 51 to line 54, it should be
understood that:

Doctors have found a way to inform patients
about everything.

Informing patients is still a tricky question for
doctors.

Doctors do not intend to say anything to their
patients.

Patients won’t need to be informed.

II. LEXIQUE
Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

13. state-of-the-art (line 2) means:
(A) belonging to art

(B) advanced

(C) belonging to the State

(D) complex

14. intake (line 6) means:
(A) health-care

(B) medicine

(C) admission

(D) surveillance

15. antsy (line 9) means:
(A) nervous

(B) caring

(C) skeptical

(D) happy

16. nook (line 9) means:
(A) specimen

(B) office

(C) drug

(D) corner

17. burdened (line 18) means:
(A) spied on

(B) oppressed

(C) reassured

(D) responsible

18.

benchmark (line 22) means:

(A) proof

(B) reference point
(C) experiment
(D) starting point

19.

mere (line 25) means:

(A) pure and simple
(B) very low

(C) very loud

(D) remote

20.

cutting edge (line 30) means:

(A) innovative
(B) sharp
(C) expensive
(D) useful

21.
(A)
(B)

trials (line 32) means:
suppositions
theses

(C) tests
(D) evidence

22.

blurry (line 37) means:

(A) unclear
(B) large
(C) narrow
(D) important



23. streamlined (line 48) means:
(A) direct

(B) sensitive

(C) scientific

(D) modernized

24. hone (line 53) means:
(A) complete

(B) question

(C) publish

(D) refine

I1I. COMPETENCE GRAMMATICALE
Choisissez la réponse adeéquate.

25.

(A) They have been told to not to say anything.

(B)
©

They have been told to not say anything.
They have been told not to say anything.

(D) They have been told not to saying anything.

26.

(A) All staff had to better make efforts.
(B) All staff had better make efforts.
(C) All staff had better to make efforts.
(D) All staff would better make efforts.

27.
(A) As long they wait, nothing will be done.
(B)
©)

So long they wait, nothing will be done.

(D) So long so they wait, nothing will be done.

28.

(A) They could have thought about it before.
(B)
(C) They could have think about it before.
(D) They could have thinking about it before.

29.

(A) There is small of information divulged.
(B) There is little information divulged.

(C) There is not many information divulged.
(D) There is a little of information divulged.

30.

(A) Sooner they react, the better.

(B) As soon they will react, the better.
(C) The sooner they react, the better.
(D) The soon they will react, the better.

31.

(A) Patients don’t need be informed.

(B) Patients needn’t to be informed.

(C) Patients needn’t be informed.

(D) Patients don’t need to being informed.

32.

(A) They would rather to not tell them.
(B) They would rather not to tell them.
(C) They would rather not telling them.
(D) They would rather not tell them.

As long as they wait, nothing will be done.

They could to have thought about it before.

33. If the methods .... changing, the patients ....

(A) keep on/ will feel lost.

(B) kept on / will feel lost.

(C) keep on/ would feel lost.

(D) keep on/ would have felt lost.

34. ... the boys .... the girls .... the rule.
(A) Neither / nor / has respected

(B) Either / nor / has respected

(C) Neither / nor / have respected

(D) Neither / or / has respected

35. When .... a solution, .... apply it.
(A) they will find / they will have to
(B) they are finding / they will have to
(C) they find / they will have to

(D) they will find / they have to

36. They have made .... suggestions.
(A) alittle many

(B) a few too many

(C) few too many

(D) little too many

37. .... complain about the system.
(A) The most people

(B) Most people

(C) Most of people

(D) The most of people

38. The issue .... debated by the board.
(A) was already

(B) has recently been

(C) has been recently

(D) had been recently

39. .... people suffer from cancer.
(A) Million of

(B) Many millions

(C) Millions of

(D) Millions

FIN
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ESPAGNOL

COOPERACION AL DESARROLLO
Para un mundo solidario y sostenible

Aprender del pasado es de personas sabias. Llegamos al final de una legislatura y es un buen
momento para pararse, analizar y planificar el futuro que estd a la vuelta de la esquina. Este
balance puede permitirnos abrir la puerta a una etapa mas positiva que la que dejamos atras.
Siempre y cuando, y ahi esta la dosis de sabiduria que debemos garantizar, aprovechemos la
experiencia y los aprendizajes que hemos cosechado en el camino. No hay otros cimientos
posibles si lo que queremos es construir una politica de desarrollo internacional renovada, que
contribuya de verdad a un mundo mejor para todas las personas y que sea capaz de dar
respuesta efectiva a los multiples y complejos retos que afrontamos como humanidad.

Una oportunidad perdida. Como organizaciones de la sociedad civil miramos hacia atras y
vemos lo que fue y todo lo que podria haber sido. Cuesta comprender coémo una politica con
inmensas posibilidades para contribuir a la mejora de las condiciones de vida de muchas
personas en todo el mundo ha sido sometida a un debilitamiento tan brutal. Sorprende el casi
insignificante peso politico y la escasa capacidad de influir otras politicas que nos han sido
otorgados en los ultimos afios. Tal situacion ha supuesto una pérdida enorme de capacidades
tanto en términos presupuestarios como humanos y, consecuentemente, un impacto directo en
la vida de miles de personas en todo el mundo.

Analizar el trayecto recorrido hasta ahora, con sus llanuras y sus baches, debe ayudarnos a
marcar el camino. En este sentido, la Agenda 2030 es una oportunidad para iniciar una nueva
etapa. Repetimos a menudo que el mundo ha cambiado, que el escenario internacional ha
cambiado, que la propia agenda internacional de desarrollo lo ha hecho. Es posible. Lo que no
ha cambiado son los problemas a los que tenemos que hacer frente como humanidad: la
pobreza extrema, la creciente desigualdad, la expulsion de sus hogares de quienes huyen de
conflictos y necesidades extremas, la violacion de derechos humanos, la discriminacion de las
mujeres o el uso insostenible de los recursos naturales. Aunque algunos de estos problemas se
han agudizado, la mayoria de ellos han existido siempre. Lo que si ha cambiado es nuestra
forma de afrontarlos; nuestra mirada sobre cudles son las mejores herramientas para hacer
frente a tal situacion y quiénes deben acompafiarnos en el viaje. Ahora, tenemos la certeza de
que ya no es posible usar las mismas logicas del pasado.

En este contexto, ;puede ser la cooperacion al desarrollo una herramienta para el cambio? Si,
puede serlo. Y lo serd sobre todo si es revisada, reorientada y hasta refundada. El balance nos
dice que no podemos seguir haciendo las cosas de la misma manera. Por eso, debemos
afrontar un debate pausado en el que los distintos agentes implicados —con la ciudadania de la
mano— participemos y aportemos de manera activa. Solo si compartimos la indignacion sobre
los problemas que nos afectan, seremos capaces de plantear soluciones que respondan de
manera efectiva al interés de la mayoria.

En esa mirada hacia atrds aparecen multiples logros que pueden ayudarnos a esa necesaria
reformulacion. Hemos acompaiado a numerosos movimientos sociales en sus luchas por la
defensa de los derechos humanos; hemos contribuido al fortalecimiento de estructuras
sociales en muchos paises del mundo. La solidaridad con los pueblos nos ha permitido
empaparnos de la cultura del bien comln y el respeto por el planeta, tejer redes y construir
propuestas que no saben de fronteras. Hemos ido de la mano de cuadros politicos que ahora
tienen responsabilidades de gobierno... Vamos acompafiadas de muchas personas en un
camino que es fundamentalmente colectivo.
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En el ambito internacional, la cooperacion para el desarrollo ha conseguido introducir en los
debates denuncias y reivindicaciones que no estaban suficientemente visibles. Cuestiones
como el injusto sistema fiscal internacional; el impacto medioambiental de ciertas politicas
europeas en el resto del mundo o el feminicidio del que ningin pais escapa. Hemos
contribuido a identificar con claridad las causas estructurales que generan los complejos
problemas que afectan a millones de personas en todo el mundo.

A pesar de todos estos avances, la experiencia nos demuestra que la Ayuda Oficial al
Desarrollo por si misma es insuficiente. Por eso, cualquier medida que se tome debe venir
necesariamente acompafada de la coherencia de politicas para el desarrollo sostenible.

Actualmente, estar en el mundo no pasa por competir entre nosotros. Exige cooperar, trabajar
de la mano y de manera horizontal, garantizando la participacion ciudadana en los asuntos
publicos y defendiendo lo ptiblico como espacio privilegiado para generar oportunidades para
las personas, garantizar los derechos humanos y respetar el planeta que habitamos.

Vivimos tiempos convulsos donde la tentacion de recurrir al miedo hacia el otro es enorme y
profundamente peligroso. Debemos frenar esa tendencia con solidaridad. Es lo mas inteligente
que podemos hacer para nuestra supervivencia como humanidad. Si es cierto que somos la
primera generacion con recursos para acabar con la pobreza y la desigualdad, y la tltima
capaz de salvar al planeta, pongamos entonces todas las politicas y todos los recursos a
trabajar en ello. Hoy mas que nunca, la solidaridad y la justicia global son el camino.

Mercedes Ruiz-Giménez Aguilar
Presidenta de la Coordinadora de ONG para el Desarrollo (CONGDE)
El pais 15/12/2015

I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

1. (lineas 2-3) Este balance puede 3. (linea 9) Como organizaciones de la sociedad
permitirnos ... civil ....

(A) encontrar soluciones mas eficaces para el (A) nos damos cuenta de que no sirve de nada
futuro. mirar hacia atras.

(B) positivar lo que ya hemos hecho hasta ahora. (B) medimos lo hecho ya y las esperanzas

(C) juzgar la accion pasada con otro enfoque. frustradas.

(D) cambiar los criterios por otros mas positivos. (C) nos damos cuenta de que quedan pocas

posibilidades de cambio.

2. (lineas 5-6) No hay otros cimientos posibles (D) nos damos cuenta de todo lo que se opone al
Si.... cambio.

(A) no queremos destruir lo ya obtenido hasta
ahora. 4. (linea 10) Cuesta comprender como ....

(B) se quiere renovar el sistema politico mundial. (A) los politicos ya no se interesan por un

(C) queremos elaborar una politica que contribuya problema de mayor importancia para el futuro.
a mejorar la suerte de mucha gente en el (B) no se dieron los medios necesarios para aplicar
mundo. una politica que despertaba tanta ilusion.

(D) se quiere realmente cambiar de modelo (C) los mas débiles son los que mas sufren de la
econdmico al nivel mundial. politica actual.

(D) los politicos no se acordaron para tomar
medidas urgentes.
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5. (linea 17) Analizar el trayecto recorrido hasta
ahora ....

(A) permite considerar como descartada cualquier
otra posibilidad.

(B) debe permitir decidir las politicas de ayuda en
el futuro.

(C) no es lo mas util para cambiar de camino.
(D) es particularmente desalentador.

6. (linea 25) Lo que si ha cambiado ....

(A) es el tipo de herramientas disponibles.

(B) es la voluntad de los paises para cambiar.

(C) es la manera de enfocar los medios necesarios
para resolver los problemas.

(D) son las posibilidades reducidas ahora por la
crisis.

7. (lineas 31-32) ... debemos afrontar un debate
pausado en el que ....

(A) todos aunemos nuestros esfuerzos para
resolver el problema.

(B) cada uno pueda expresarse libremente.

(C) no se descarte ninguna opcion.

(D) se decida por fin una solucion que tenga en
cuenta los derechos de los ciudadanos.

8. (linecas 33-34) So6lo si compartimos la
indignacion sobre los problemas que nos
afectan ....

(A) seremos capaces de encontrar soluciones
adecuadas al interés general.

(B) tendremos la fuerza de intervenir de manera
contundente.

(C) seremos comprendidos por las mayorias mas
pobres.

(D) podremos oponernos a las fuerzas contra
revolucionarias que estan al acecho.

9.

(A)
(B)
©)
(D)

10.
(A)
(B)
©
(D)
11.
(A)
(B)
©)
(D)

12.

(A)
(B)
©

(D)

(linea 44) En el ambito internacional, la
cooperacion  para el  desarrollo  ha
conseguido ....

resolver muchos problemas sin solucion hasta
ahora.

revelar aspectos escandalosos de la politica
internacional.

[lamar Ia atencidn sobre aspectos del problema
infravalorados hasta ahora.

mejorar de forma visible los problemas mas
agudos de la cooperacion.

(linea 51) Por eso, cualquier medida que se
tome debe ....

ser el resultado de acuerdos a nivel
internacional.

combinarse con politicas coherentes para el
desarrollo sostenible.

garantizar el desarrollo mas rapido posible de
los paises mas pobres.

acelerar las medidas para favorecer los
intercambios entre los paises.

(linea 53) Actualmente, estar en el mundo ....
pasa por intentar ser los mejores en la
competicion mundial.

no pasa por renunciar a nuestra identidad
nacional.

significa ser protagonista del progreso.
significa no sobrevalorar la competicion entre
los paises.

(linea 57) Vivimos tiempos convulsos
donde ....

el miedo al futuro es cada vez mayor.

el miedo es el resorte de cada accion humana.
la tentacion de instrumentalizar el miedo al
otro es patente.

la tentacion de buscar siempre un chivo
expiatorio es muy importante.

II. LEXIQUE
Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

13. ala vuelta de la esquina (linea 2)
(A) muy lejano

(B) dondequiera

(C) en el rincon

(D) muy préoximo

14. hemos cosechado (linea 5)
(A) hemos recogido

(B) hemos cobijado

(C) hemos perdido

(D) hemos mostrado

8/10

15.
(A)
(B)
©)
(D)

16.
(A)
(B)
©)
(D)

retos (linea 8)
dificultades
objetivos
desafios
acciones

debilitamiento (linea 12)
reduccion

cambio

auge

incidente



17. otorgados (linea 14)
(A) dados

(B) negados

(C) permitidos

(D) inculcados

18. presupuestarios (linea 15)
(A) individuales

(B) identitarios

(C) morales

(D) financieros

19. baches (linea 17)
(A) curvas

(B) picos

(C) paréntesis

(D) huecos

20. se han agudizado (linea 25)
(A) se han resuelto

(B) han empeorado

(C) se han ocultado

(D) se han esfumado

21. herramienta (linea 29)
(A) instrumento

(B) inconveniente

(C) baza

(D) accesorio

22. logros (linea 36)
(A) obstaculos

(B) éxitos

(C) sucesos

(D) fracasos

23. empaparnos (linea 40)
(A) alejarnos

(B) hartarnos

(C) impregnarnos

(D) sostenernos

24. tejer (linea 40)
(A) crear

(B) sonar

(C) facilitar

(D) soltar

III. COMPETENCE GRAMMATICALE

25. Este es el consejo ... damos a ..

aprobar el examen.
(A) que/que
(B) que/ quienes
(C) lo/quien
(D) selo/los cuales

26. Lo que has conseguido no .... nadamal .... un

principiante.
(A) esta/para
(B) sera/con
(C) es/en
(D) va/por

27. ....yamedia hora....
(A) Hace / esperado.

(B) Lleva/ esperandote.
(C) Hay / esperarte.

(D) Esta/ esperar.

28. Encuantola....le....lo....
(A) vera/ contaras / que ocurre.

(B) vieras / contaremos / ocurridos.

(C) verias / contara / ocurriendo.
(D) veas / contaras / ocurrido.

Choisissez la réponse adéquate.

29. .... en aquellos afos .... decidieron abandonar

el pais.
(A) Era/que
(B) Fue/cuando
(C) Es/como
(D) Es/que

30. Aunque no .... estadisticas fiables mucha gente

.... menos feliz que .... 10 afios.
(A) existan / se consideran / hay
(B) existieran / se considera / hacia
(C) existen / se considera / hace
(D) hay / se consideran / ha

31. Sea ....exigente .... mismo.
(A) lo/ensi

(B) él/enel

(C) Usted/ consigo

(D) Usted / de él

32. j....un chollo! {No .... pierdas!
(A) Es/telo

(B) Esta/os los

(C) Estaba/ nos lo

(D) Era/selo



33. No .... que .... tan facil resolver el problema. 37. .... tener en cuenta que la situacion es mucho

(A) creed/ fuese .... complicada de lo que imaginaba.
(B) crei/sera (A) Es/mas

(C) pensaba / fuera (B) Hace que / mas

(D) pensé / estuviese (C) Hay que / mas

(D) Tiene de / mas
34. No .... tan enfermo .... no acudir a tu fiesta de

cumpleanos. 38. ....gana .... gasta, asi que nunca .... rico.
(A) soy/por (A) Menos / mas/ se hara
(B) era/de (B) Mas/mas/ estara
(C) estoy / como para (C) Cuanto mas / mas / sera
(D) seré/en (D) Menos/ menos / estara
35. (Qué....,site....laloteria? 39. Fuera de temporada .... las cerezas a unos
(A) haras / tocas precios .... elevados.
(B) hicieras / toque (A) se venden / muy
(C) harias / tocara (B) se vende / mas
(D) hagas / tocaria (C) uno vende / mucho

(D) vendemos / demasiados
36. Yole....conque ....toda la verdad.
(A) perdonaré / confiese

(B) perdonaria / confesara

(C) perdono / confesa

(D) perdone / confesara

FIN
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SESSION 2017 LVBAUO0S

san. CONCOURS COMMUNS

wr- POLYTECHNIQUES

EPREUVE COMMUNE - FILIERES MP - PC - PSI - TSI - TPC

LANGUE VIVANTE B :
ALLEMAND - ARABE - ITALIEN - PORTUGAIS - RUSSE
L’épreuve de langue vivante B est obligatoire pour PEEIGM Nancy (filieres MP, PC et PSI)
Mercredi 3 mai : 17 h 30 - 18 h30

N.B. : si un candidat croit repérer ce qui parait étre une erreur d’énoncé, il le signalera par écrit :

- en cochant la case 40 A (1" ligne) ;

- en expliquant au verso de la grille réponse les raisons des initiatives qu’il a été amené a prendre et
poursuivra normalement son épreuve.

L’usage d’un dictionnaire et de machines (calculatrice, traductrice, etc.)
est strictement interdit.

INSTRUCTIONS GENERALES

Définition et baréme :

QCM en trois parties avec quatre propositions de réponse par item.

L Compréhension : 12 questions (10 points sur 20)
II. Lexique : 12 questions (5 points sur 20)
I11. Compétence grammaticale : 15 questions (5 points sur 20)

Réponse juste : +3
Pas de réponse : 0
Réponse fausse ou réponses multiples : —1

Instructions :

Lisez le texte et répondez ensuite aux questions.

Choisissez parmi les quatre propositions de réponse (A, B, C ou D) celle qui vous parait la mieux
adaptée. Il n’y a qu’une seule réponse possible pour chaque item.

Reportez votre choix sur la feuille de réponse.

Index “alphabétique” :

Allemand : pages 2 a 6
Arabe:  pages7all
Italien:  pages 12a16
Portugais : pages 17 a 21
Russe : pages 22 a 26
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ALLEMAND

Ganz von vorn anfangen

Mehrere Hunderttausend Fliichtlingskinder besuchen deutsche Schulen. Die Integration
gelingt vor allem den Lehrern an einer viel geschmdhten Institution: der Hauptschule.

Ein Dienstagmorgen an der St.-Walburga-Hauptschule in Meschede. 26 Schiiler sitzen an
Gruppentischen. Vor sich auf dem Tisch hat jedes Kind ein Worterbuch. Die Schiiler stammen
aus Polen und Mazedonien, aus Afghanistan, dem Irak oder Syrien. Keiner von ihnen ist in
Deutschland aufgewachsen. Die meisten sind hier, weil ihre Eltern in der Heimat keine Arbeit
gefunden haben oder weil sie Konfliktgebieten, etwa im Nahen Osten, entkommen wollten.
Einige sind allein gekommen, sie haben eine anstrengende, gefahrliche Flucht hinter sich. Ein
Jugendlicher aus Afghanistan hat unterwegs seine Familie verloren, er weil3 nicht, ob sie noch
lebt.

Es ist eine bunt zusammengewiirfelte Gruppe, die nun gemeinsam Deutsch lernt. Ara und
Nikola, elf Jahre alt, sind die Jiingsten; die Alteste, ein Midchen aus Serbien, ist bereits
volljahrig. Einige Schiiler sind seit dem Sommer hier und sprechen schon ein paar Sétze
Deutsch. Andere haben vor wenigen Tagen zum ersten Mal eine deutsche Schule betreten. In
der Vorbereitungsklasse, die je nach Bundesland auch Willkommensklasse, Intensivklasse oder
Internationale Klasse genannt wird, sollen die Zuwanderer fit fiir das deutsche Schulsystem
werden. Wenn sie ein bestimmtes Niveau erreicht haben, nehmen sie erst stundenweise, dann
ganz am reguldren Unterricht teil.

Die Vorbereitungsklasse an der St.-Walburga-Hauptschule ist die erste dieser Art im 30 000-
Einwohner-Stiddtchen Meschede. Dass eine Hauptschule ausgewdhlt wurde, ist kein Zufall.
Zwar wird sie oft als Restschule geschméht, in vielen Bundesldndern ist sie ein Auslaufmodell
oder schon mit anderen Schulformen verschmolzen. Doch die Lehrerinnen und Lehrer an den
Hauptschulen schultern derzeit die grofBte Last der Integration.

Rund 325000 Fliichtlingskinder wurden in den vergangenen beiden Jahren an deutschen
Schulen aufgenommen, jedes Bundesland regelt die Schulpflicht der Fliichtlinge anders. In
Thiiringen miissen sie bereits drei Monate nach ihrer Ankunft den Unterricht besuchen, in
Baden-Wiirttemberg nach sechs. Migranten aus EU-Staaten, die bisher den Grof3teil der
Schiilerschaft ausmachten, sind dagegen vom ersten Tag an schulpflichtig. Stammten bis 2013
die meisten zugewanderten Kinder aus Polen und Ruménien, lag 2014 erstmals Syrien an der
Spitze.

Fast jede Woche kommen neue Schiiler auch in der Mescheder Vorbereitungsklasse an.
Manche haben noch nie eine Schule besucht, weil Krieg, Gewalt und Vertreibung in ihrer
Heimat einen Unterricht unmoglich machten. Die Klassenlehrerin Marita Korte-Exner, die
sonst Geschichte und Erdkunde unterrichtet, fangt hiufig ganz von vorn an, sie setzt sich zu
den Kindern und iibt das Alphabet. Die Verstindigung ist kompliziert; wer nicht schreiben
kann, weil} natiirlich auch noch nicht, wie man ein Worterbuch benutzt.

An Hauptschulen sind ohnehin normalerweise mehr Kinder, in deren Elternhaus kein Deutsch
gesprochen wird, als an anderen Schulen. Deshalb eignen sie sich besonders fiir die Arbeit mit
Fliichtlingen, da sind sich die Experten einig. Und Hauptschullehrer seien Meister darin, auch
Schiiler mitzunehmen, die sich schwertun.

2/26



40

45

50

55

60

Um in eine Regelklasse wechseln zu konnen, brauchen die Schiiler grundlegende Kenntnisse
der deutschen Sprache. Auch damit werden sie es nicht leicht haben, dem normalen Unterricht
zu folgen. Viele Kinder haben Traumatisches erlebt. Manchmal helfe es mehr, die Hand der
Schiiler zu driicken und iiber die Schulter zu streichen, als die Dinge in Worte zu fassen. Wer
in einer Willkommensklasse unterrichtet, ist auch Elternersatz, Troster, Psychologe. Doch es
fehlt an Lehrern und auch an Rdumen. Einige Schulen haben bereits einen Aufnahmestopp fiir
Fliichtlingskinder erklért.

Vielleicht wiirde es schon helfen, die neuen Schiiler gleichmiBiger auf alle weiterfithrenden
Schulen zu verteilen. Denn bisher halten sich die Gymnasien meist zuriick, oder die
Schulbehorden verhindern, dass sie Fliichtlingskinder aufnehmen. Im Ruhrgebiet aber, wo sich
seit den Sechzigerjahren viele Zugewanderte niedergelassen haben, 6ffnen sich Gymnasien
schon seit Langerem. Das Heinrich-von-Kleist-Gymnasium in Bochum etwa hat mit
auslidndischen Schiilern viel Erfahrung, Vorbereitungsklassen gibt es hier seit liber 30 Jahren.
An der Schule sei die Belastungsgrenze jetzt allerdings erreicht. 45 Jungen und Méadchen aus
Zuwandererfamilien, verteilt auf drei Klassen, betreut das Kollegium. Zum Gliick sind die
Fliichtlingskinder engagiert. Der Grofteil macht schnell Fortschritte, einige stehen vor dem
Wechsel in die Regelklasse. Die haben richtig Spal am Lernen. Manche kdnnten sogar am
Gymnasium bestehen, doch die Schule kann sie nicht behalten: Auch dort sind die Klassen
voll. Schulleiter Buda mochte deshalb gern neue Klassen einrichten.

Omar, 16, aus Syrien, hatte Gliick: Er ergatterte einen Platz am privaten Gymnasium in
Meschede, nimmt sogar am Regelunterricht teil. Eine Vorbereitungsklasse gibt es dort nicht.
Er schligt sich gut, spricht flieBend Englisch, ist fit in Mathe. Er stammt aus der Néhe des
umkidmpften Aleppo, seine Familie ist noch dort. Er kam ganz allein nach Deutschland und
hélt nun per Handy Kontakt zu seinen Eltern. Die Chancen stehen gut, dass er in ein paar
Jahren das Abiturzeugnis in Hianden hélt. Nur Deutsch muss er noch lernen. Dafiir besucht er
stundenweise die Vorbereitungsklasse von Marita Korte-Exner — in der Hauptschule.

Nach: Der Spiegel, 20. Februar 2016

I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

1. An der St.-Walburga-Hauptschule in 3. Die Flichtlingskinder ....
Meschede .... (A) sollen Deutsch lernen und eine Arbeit suchen.
(A) konnen nur Fliichtlingskinder lernen. (B) werden auf den normalen Unterricht
(B) bestehen die Klassen aus hochstens 26 vorbereitet.
Kindern jeweils. (C) haben bereits solide Deutschkenntnisse.
(C) erhalten viele Fliichtlingskinder Deutsch- (D) werden sich leider nie integrieren konnen.
Unterricht.
(D) gibt es einmal pro Woche Unterricht fiir 4. Die Schiiler dieser Klasse ....
Fliichtlingskinder. (A) sind im gleichen Alter.
(B) haben oft sehr unterschiedliche Muttersprachen.
2. Die Eltern dieser Kinder sind meistens .... (C) miissen auch am Sportunterricht teilnehmen.
(A) vor Krieg und extremer Armut gefliichtet. (D) waren alle zuvor an einer deutschen Schule.
(B) einfach in ihrer Heimat geblieben.
(C) leider im Krieg oder an Hunger gestorben.
(D) den deutschen Behdrden total unbekannt.
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5. Hauptschulen wie diese ....

(A) werden wegen Migranten iiberall ausgebaut.

(B) sind ein neues revolutiondres Modell im
deutschen Schulsystem.

(C) werden von vielen Deutschen hoch geschitzt.

(D) werden wohl nach und nach verschwinden.

6. An deutschen Schulen ....

(A) ist die Zahl der Fliichtlingskinder seit Jahren
stabil.

(B) fiihren alle Bundeslénder dieselbe
Integrationspolitik.

(C) gibt es bei der Einschulung der
Migrantenkinder starke Unterschiede
zwischen den Bundeslidndern.

(D) sinkt die Zahl der Fliichtlingskinder seit zwei
Jahren.

7. Viele Migrantenkinder ....

(A) kommen eigentlich direkt in die Regelschule.
(B) kommen neulich vor allem aus Osteuropa.
(C) haben zwei Jahre lang keine Schulpflicht.
(D) kommen nun vorwiegend aus Syrien.

8. Das Lehrpersonal an den Hauptschulen ....

(A) kann sich am besten um Fliichtlingskinder
kiimmern.

(B) ist bei der Ankunft neuer Fliichtlinge vollig
verzweifelt.

(C) will so viele
unterrichten.

(D) hatte bisher
Migranten.

Migranten nicht mehr

noch nie Erfahrung mit

9. Die neuen Schiiler ....

(A) haben immerhin alle ein Worterbuch zu Hause.
(B) konnen zumindest alle lesen und schreiben.
(C) werden manchmal zum ersten Mal eingeschult.
(D) mochten kein neues Alphabet lernen.

10. In den Willkommensklassen ....

(A) ist das Sprachniveau das einzige Problem.

(B) sind leider nicht genug Lehrer und Ré&ume
vorhanden.

(C) brauchen Lehrer eine Sonderausbildung in
Psychologie.

(D) vergessen die Schiiler schnell ihr Trauma.

11. Ausreichende Deutschkenntnisse ....

(A) sind fiir den Wechsel in eine Regelklasse
notwendig.
(B) erlauben eine
Gymnasium.
(C) konnen Migrantenkinder nur

langsam erwerben.
(D) garantieren gute Noten in Regelklassen.

leichte Aufnahme an ein

schwer und

12. Nur wenige Fliichtlingskinder ....

(A) mochten ein Gymnasium besuchen.

(B) sind hoch motiviert und lernen schnell.

(C) besuchen Vorbereitungsklassen im Ruhrgebiet.

(D) haben gute Chancen, ein Abitur machen zu
konnen.

II. LEXIQUE
Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

13. aufgewachsen (Zeile 4)
(A) integriert

(B) aufgenommen worden
(C) angekommen

(D) groB geworden

14. reguldren Unterricht (Zeile 16)
(A) problematischen

(B) normalen

(C) strikten

(D) obligatorischen

15. geschmiht (Zeile 19)
(A) entlarvt

(B) gepriesen

(C) diffamiert

(D) unterstiitzt
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16. ist.... ein Auslaufmodell (Zeile 19)
(A) wird bald nicht mehr existieren

(B) ist zurzeit Mode

(C) ist ein Musterbeispiel

(D) entwickelt sich sehr schnell

17. in den vergangenen .... Jahren (Zeile 22)
(A) letzten

(B) langen

(C) schwierigen

(D) nichsten

18. hiufig (Zeile 32)
(A) jedes Mal

(B) selten

(C) niemals

(D) oft



19. eignen sie sich fiir die Arbeit (Zeile 36)
(A) wiinschen sie die Arbeit

(B) lehnen sie die Arbeit radikal ab

(C) sind sie gut vorbereitet fiir die Arbeit
(D) mogen sie die Arbeit

20. sich schwertun (Zeile 38)
(A) nicht motiviert sind

(B) Schwierigkeiten haben
(C) besonders aggressiv sind
(D) plotzlich depressiv werden

21. grundlegende Kenntnisse (Zeile 39)
(A) spezialisierte

(B) schwache

(C) fundamentale

(D) perfekte

22. allerdings (Zeile 52)
(A) schon

(B) bald

(C) vielleicht

(D) jedoch

23. haben .... SpaBl am Lernen (Zeile 55)
(A) lernen alles sehr gerne

(B) lernen nur mit Miihe

(C) haben keine Lust zu lernen

(D) lernen nur, was ihnen gefallt

24, ergatterte (Zeile 58)
(A) verlangte

(B) erkdmpfte

(C) verweigerte zuerst
(D) bat hoflich um

III. COMPETENCE GRAMMATICALE
Choisissez la réponse adéquate.

25. .... kommt aus Polen?
(A) Welche Kinder

(B) Wo

(C) Warum

(D) Wer

26. Ahmed ist .... Deutschland gefliichtet.
(A) im

(B) in

(C) nach

(D) zudie

27. Lubnaist....

(A) Syrerin.

(B) eine Syrer.

(C) syrisch.

(D) ein syrisch Schiilerin.

28. .... du schon eine deutsche Schule ....?
(A) Hat/ begesucht

(B) Habst/ besuchen

(C) Hast/ besucht

(D) Habest / besuchen

29. Hauptschulen .... oft .....
(A) wird / diffamieren

(B) werden / diffamiert

(C) wiirden / zu diffamieren
(D) werde / gediffamiert
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30. Die Lehrer, .... wir sprechen, sind tolle Lehrer!
(A) von denen

(B) die

(C) von dem

(D) das

31. Ein Hauptschullehrer ....
am besten betreuen.

(A) weildt

(B) kennt

(C) konnt

(D) kann

ein Fliichtlingskind

32. Denken wir .... diese armen Menschen!

(A) auf

(B) von

(C) an

(D) zu

33. Fliichtlingskinder sind meistens .... andere
Schiiler.

(A) mehr fleiBig wie

(B) so fleiBig als

(C) fleiBiger als

(D) so fleiBiger wie

34. .... das Worterbuch!
(A) Nehmst du

(B) Nimm

(C) Nehme

(D) Nimmst



35. .... ein Schiiler grundlegende Deutsch-
Kenntnisse hat, dann wechselt er die Klasse.

(A) Wie

(B) Ob

(C) Als

(D) Wenn

36. Am Anfang konnen manche Migrantenkinder
.... lesen .... schreiben.

(A) weder /noch

(B) nicht / auch

(C) keinen / oder

(D) nie/ sondern

37. .... sprechen die Eltern oft kein Deutsch.
(A) Bei Haus

(B) Zu Hause

(C) Nach Haus

(D) In das Haus
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38. Die Kinder brauchen mindestens drei Monate,
.... richtig Deutsch .... sprechen.

(A) z7u/Q

(B) fir/ O

(C) damit/ zu

(D) um/ zu

39. Nordrhein-Westfalen ist
Bundesland.

(A) eines auslidnderfreundliches

(B) ein ausldanderfreundliches

(C) einer ausldnderfreundlich

(D) einen auslidnderfreundliche

anscheinend

FIN
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I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.
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II. LEXIQUE

Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.
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I1I. COMPETENCE GRAMMATICALE
Choisissez la réponse adéquate.
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ITALIEN

Abbiamo inquinato anche le stelle, il cielo é pieno di spazzatura umana

Rifiuti in orbita

Lo spazio intorno alla Terra non ¢ vuoto. Oltre al pulviscolo, girano rottami di vecchi razzi,
satelliti in disuso, detriti di veicoli spaziali. E la “spazzatura dello spazio”, I’insieme di
“debris” che circondano il pianeta e che, col tempo (ma si parla di secoli), finiranno per
precipitare nell’atmosfera. Intanto, pero, girano a velocita altissime e rischiano di creare
nuove collisioni. E, di conseguenza, nuovi rottami.

Di cosa si tratta

Secondo le stime della Nasa, I’ammontare dei detriti spaziali (derivati dall’opera dell’'uomo)
¢ di svariate decine di milioni di elementi. Ma se si considerano i detriti con una larghezza
compresa tra 1 e 10 cm, si scende a circa 500mila elementi. Se sono ancora piu grandi, cioe
con un peso stimato superiore a 1 chilogrammo, si parla di una cifra piu ridotta: sarebbero
“solo” 19mila. In generale, orbitano intorno alla Terra a una velocita di 28mila km/h. Come
sa qualsiasi spettatore di Gravity, ’impatto con un detrito spaziale pud causare danni anche
gravi (ma, va detto, nella realta sono cosi veloci che non vengono nemmeno visti in
anticipo).

Ogni apparecchio umano lanciato nello spazio genera dei detriti. Quelli piu piccoli derivano
dalla polvere dei motori dei razzi, oppure dalla vernice erosa dalle superfici. Ogni collisione,
poi, ne genera di nuovi ogni volta, in una procedura che potrebbe continuare a lungo. In ogni
caso, la massa totale dei detriti intorno alla Terra € nota, ed ¢ il totale di (quasi) tutto cio che ¢
stato lanciato nello spazio e che non ¢ rientrato. Si aggira intorno alle 5.500 tonnellate.

C’¢ un po’ di tutto: da apparecchi che hanno esaurito la loro missione, come il Vanguard 1,
lanciato dagli Usa nel 1958 — era il primo satellite artificiale che traeva la sua energia dal sole
— e che, per altri 240 anni dovra vagare intorno al pianeta, fino ai resti del Dmsp 213, cio¢ un
satellite del programma di difesa meteorologica, che nel febbraio 2015 ¢ esploso, dando vita
a 149 pezzi che resteranno nello spazio molto a lungo. In mezzo, ci sono 1 satelliti della
sorveglianza navale russi, lanciati negli anni ’70, 1 razzi propulsori upper stage, che a
differenza dei booster degli shuttle, restano in orbita (dove completano la loro funzione) e, a
volte esplodono (¢ successo nel 2000 al razzo cinese “Lunga marcia” che ¢ esploso
polverizzandosi, € nel 2006 ¢ toccato a un booster che trasportava un satellite Arabsat).

Ci sono anche i detriti “militari”, cio¢ il risultato di test condotti dall’Unione Sovietica e
dagli Usa negli anni 60 e ’70. [...] E ci sono anche i satelliti abbattuti perché non piu
funzionanti, o perché diventati pericolosi, come il satellite spia americano distrutto nel 2008
dagli Usa, e che portava con sé¢ 450 chili di propulsore tossico.

Infine, a fluttuare nel vuoto si pud incontrare anche un guanto smarrito da Ed White,
astronauta Usa, durante la prima passeggiata americana nello spazio. Il suo collega Michael
Collins, invece, si era lasciato scivolare una telecamera vicino a Gemini 10, che ora vaga
tranquilla lungo la sua orbita. Ma ’ufficio oggetti smarriti nello spazio comprende anche una
cassetta degli attrezzi (persa da Heidemarie Stefanyshyn-Piper), un’altra telecamera, una
chiave inglese, uno spazzolino da denti (?). Qualche sfortunato potrebbe anche imbattersi nei
sacchetti della spazzatura dei cosmonauti sovietici.
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Perché ¢ un problema

Solo di recente, cio¢ dal 1998, il tema dei detriti spaziali, 1 debris, ¢ diventato fonte di
preoccupazione. |...]

Il mondo della spazzatura spaziale ¢ molto delicato. I satelliti, soprattutto gli apparecchi
geostazionari, sono muniti di uno scudo Whipple, che ripara dal pulviscolo piu ridotto. Non
puo, per ragioni pratiche, proteggere alcune componenti delicate come 1 pannelli solari che,
giocoforza, risultano i piu esposti. Altri apparecchi, invece, come ad esempio gli Shuttle,
devono cavarsela studiando percorsi in territori sgombri e, in caso di imprevisto, manovre
complicate per schivarli. E avvenuto, ad esempio, nel 1991, quando lo space shuttle
americano Discovery, nella missione Sts-48, fu costretto a una deviazione per evitare
I’impatto con i resti del satellite Kosmos 955.

Capitano anche incidenti bizzarri: nel 1983 lo shuttle Challenger era stato colpito da alcuni
resti di vernice di alcuni satelliti, che hanno creato un’ammaccatura nella finestra frontale di
oltre 1 millimetro. Lo stesso accadde dieci anni dopo, allo shuttle Endeavour. Con il tempo,
per evitare di danneggiare troppo 1 veicoli, si ¢ deciso di capovolgerli, una volta in orbita, in
modo da esporre i motori (che non sono coinvolti nella manovra di atterraggio), o di usare la
Stazione Spaziale come protezione. Insomma, ogni sistema era buono.

Le soluzioni? Nessuna

Ma non esiste un modo per eliminare questa spazzatura celeste? Il problema ¢ stato posto, e
confermato anche nel 2012, in un incontro a Bruxelles organizzato dal think tank Usa Secure
World Foundation: se non si provvede alla rimozione dei detriti (almeno quelli piu grandi,
come 1 satelliti che hanno smesso di funzionare), lo spazio diventera impraticabile perché
troppo rischioso. [...]

Allora si ¢ pensato di riportarli a Terra. Se non con un propulsore, con un cavo
elettromagnetico, lungo circa 30 chilometri, che presente in un dispositivo indipendente,
sarebbe srotolato alla fine della sua missione. Il cavo, interagendo con il campo magnetico
terrestre, trasporterebbe verso il basso il satellite, fino a farlo dissolvere a contatto con
I’atmosfera.

Oppure, c¢’¢ sempre il laser, che dalla Terra colpisce il detrito, lo rallenta e lo fa precipitare.
Anche qui pero ci sono problemi: un laser del genere minerebbe i delicati equilibri delle
convenzioni internazionali e, soprattutto, creerebbe comunque un pulviscolo che rimarrebbe
nello spazio.

La cosa piu efficace, allora, ¢ di andarli a riprendere. Veicoli appositi — che avrebbero il non
secondario difetto di essere molto costosi — potrebbero andare a caccia dei vecchi satelliti,
afferrarli in un abbraccio mortale e riportarli a Terra, o meglio: nell’atmosfera. E il progetto
Clean Space One, del Centro Spaziale Svizzero, che coinvolge due nanosatelliti. E ancora
allo studio il metodo di presa con cui il satellite spazzino afferrerebbe il vecchio rottame
dello spazio.

L’Esa, I’Agenzia Spaziale Europea, studia un progetto analogo, e.Deorbit, e propone arpioni
e reti. II Giappone ha fatto alcuni test proprio con una rete. Ma era solo un esperimento.
Insomma, il numero dei detriti aumenta, e le soluzioni trovate sono ancora poche. C’¢ molta,
troppa incertezza, sotto il cielo. Ma il problema, come si ¢ capito, ¢ sopra il cielo.

da Dario RONZONI
Linkiesta.it, 13 giugno 2015
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I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

I detriti spaziali intorno alla Terra ....
girano ad altissime velocita

orbitano a una velocita di 10 km/h
non si muovono per niente

girano a bassissima velocita

Secondo la NASA, i
ammonterebbero ....

a una decina di elementi

a un milione di elementi

a decine di milioni di elementi
a un migliaio di elementi

detriti  spaziali

I detriti un chilo
sarebbero
28mila

110mila
500mila

19mila

che pesano piu di

Ogni collisione tra detriti spaziali ....
aggrega 1 detriti tra loro

genera nuovi detriti

salda i detriti tra loro

riduce il numero di detriti

La massa totale dei detriti intorno alla Terra si
aggira intorno ....

alle 5.500 tonnellate

ai 5.500 chili

alle 55.000 tonnellate

ai 500 quintali

Il razzo cinese esploso e polverizzatosi nel
2000 si chiamava ....

Paparazzo

Lunga marcia

Via della seta

Grande muraglia

7. Nella missione Gemini 10, 1 astronauta

Michael Collins ha perso nello spazio ....

(A) una cassetta degli attrezzi

(B) un paio di guanti

(C) una telecamera

(D) una spazzola per i capelli

8. Sugli apparecchi geostazionari, lo scudo
Whipple ....

(A) ¢ del tutto inutile

(B) protegge perfettamente i pannelli solari

(C) protegge dal pulviscolo piu ridotto

(D) ripara da qualsiasi impatto

9. Per evitare i detriti spaziali gli Shuttle ....
(A) studiano percorsi in territori sgombri

(B) si affidano al caso

(C) non prevedono manovre complicate

(D) scelgono i percorsi piu ingombri

10. Le due soluzioni immaginate per eliminare i
detriti sono ....

(A) un cavo elettromagnetico e un laser

(B) un aspirapolvere e un cavo magnetico

(C) un paracadute e un cavo elettrico

(D) una pila atomica e un laser

11. Il progetto Clean Space One € un progetto ....
(A) internazionale

(B) europeo

(C) giapponese

(D) svizzero

12. 1I progetto e.Deorbit intende recuperare detriti
spaziali ....

(A) con secchi e reti

(B) con reti e arpioni

(C) con specchi e calamite

(D) con arpioni e aquiloni

II. LEXIQUE
Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

(i) pulviscolo (linea 2)

(le) particelle in sospensione
(I’) infinito

(i) polverizzatore

(I’) ignoto
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14. in disuso (linea 3)
(A) abitati

(B) abbandonati

(C) verificati

(D) congelati



15. intanto (linea 5)
(A) eternamente

(B) ogni tanto

(C) nel frattempo
(D) ininterrottamente

16. svariate (linea 9)
(A) poche

(B) infinite

(C) limitate

(D) parecchie

17. circa (linea 10)
(A) esattamente
(B) molto meno di
(C) piu o meno
(D) appena

18. nemmeno (linea 14)
(A) mai

(B) meno male

(C) sempre

(D) neanche

19. vaga (linea 36)
(A) salta

(B) galleggia

(C) dorme

(D) sogna

20. direcente (linea 42)
(A) poco tempo fa

(B) per magia

(C) per caso

(D) in passato

21. schivarli (linea 49)
(A) evitarli

(B) schiacciarli

(C) capovolgerli

(D) inghiottirli

22. capitano (linea 52)
(A) dirigono

(B) succedono

(C) immaginano

(D) raccontano

23. danneggiare (linea 55)
(A) sporcare

(B) utilizzare

(C) stancare

(D) deteriorare

24, hanno smesso (linea 62)
(A) hanno scelto

(B) hanno promesso

(C) hanno dimenticato

(D) hanno cessato

III. COMPETENCE GRAMMATICALE
Choisissez la réponse adéquate.

25. Parla in fretta, come se .... uno specialista.
(A) sarebbe

(B) fosse

(C) sia stato

(D) ¢ stato

26. Il secondo progetto ¢ meno riuscito ....
(A) del primo.

(B) che il primo.

(C) dal primo.

(D) de il primo.

27. Lavoro in ufficio ....
(A) dauna a sei.

(B) dal’unaa le sei.

(C) dall’una ora alle sei ore.
(D) dall’una alle sei.

28. Se....lamamma, lei .... sollevata.
(A) aiutassero / fosse

(B) aiuterebbero / sarebbe

(C) aiutassero / sarebbe

(D) aiutarono / sara

29. Domani vai .... 0 ....7
(A) ateatro/a cinema
(B) ateatro/ al cinema
(C) al teatro / al cinema
(D) da teatro / da cinema

30. Bisogna che lui .... presto.
(A) partira

(B) parta

(C) partisse

(D) partiva
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31. Quando ...., .... tanti sogni nel cassetto.

(A) si ¢ giovani/ si hanno
(B) si¢ giovane/si ha

(C) siamo giovane / si ha

(D) si sono giovani / si hanno

32. Ecco i famosi dolci .... ti ho parlato.
(A) dei cui

(B) di quali

(C) dicui

(D) dei quali

33. Hai fatto bene .... dire la verita.
(A) a
(B) da
(C) ad
(D) in

34. ... faccio un pisolino.
(A) Tutti giorni
(B) Ogni giorni
(C) Ogni giorno
(D) Tutto giorno

35. lo vorrei che gli studenti .... di piu.
(A) lavorano

(B) lavorino

(C) lavorassero

(D) lavoravano

36. Ho visitato ....

(A) grandi cittd americane e canadesi.
(B) grande citt¢ americane e canadese.
(C) grandi citté americani e canadesi.
(D) grande citta americani e canadese.

37. Non .... dara, anche se .... chiederai.
(A) tello/ gliello

(B) loti/glilo

(C) tilo/ gliclo

(D) telo/ glielo

38. Ripensa con nostalgiaa ....
(A) quelli belli tempi.

(B) quegli begli tempi.

(C) questi belli tempi.

(D) quei bei tempi.

39. Per...., Roma ¢ la citta .... d’Italia.
(A) me/ piu bella

(B) mi/ piu bellissima

(C) me/ la piu bellissima

(D) mi/ la piu bella

FIN
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PORTUGAIS

Indios urbanos: buscando as raizes longe da natureza

“O Brasil nao tera indios no século XXI. A ideia de congelar o homem no estado primitivo de
sua evolucdo ¢, na verdade, cruel e hipocrita”, afirmou o ex-ministro brasileiro de Ciéncia e
Tecnologia Hélio Jaguaribe a um grupo de militares em 30 de agosto de 1994. Nao sabia
0 quanto estava errado.

Atualmente héa no Brasil mais de 800.000 indigenas, segundo o mais recente recenseamento do
Instituto Brasileiro de Geografia e Estatistica (IBGE), de 2010. Vivem nas grandes cidades
38,5% deles, principalmente em Sdo Paulo, mas também em Manaus, Boa Vista e no Rio de
Janeiro. Isso representa o ultimo desafio para o indio: adaptar-se e sobreviver entre toneladas
de asfalto.

Hé exatamente 24 anos o indio Xamakiry, nascido no municipio amazdnico de Boca do Acre,
chegou ao Rio de Janeiro. Uma vez 14, comecou a ser chamado de Afonso Apurind, ou seja,
com seu nome em portugués seguido pela etnia a que pertence. “Vim em busca de um sonho.
Quando era pequeno, minha mae foi a cidade e viu pela primeira vez a televisdo: uma caixinha
em que as pessoas cabiam. Isso despertou minha curiosidade, e pensei que um dia quereria
estar 14 dentro”, recorda com a ilusdo de uma crianga que ainda nao cresceu.

Dos delirios de grandeza a luta ativista, com o passar dos anos Apurind largou a gravagao de
anuncios e os estudios da Globo para se dedicar a causa indigena. Integrante do movimento
Aldeia Maracand, experimentou na propria carne a dificuldade de ser indio numa grande
metropole: “Muitos indigenas chegam ao Rio de Janeiro e ndo t€ém para onde ir. Comegamos
entio uma luta para transformar o antigo Museu do Indio em ponto de encontro e centro de
referéncia dos povos indigenas”.

Mas a mudanca para uma grande cidade nao implica somente uma falta de casa ou de refugio.
No caso dos indios urbanos, vai muito além. “Para viver aqui deixei minha tradi¢do de vida e
mudei, fui obrigado a mudar para ndo ser alvo de piadas nem o palhago de ninguém. Fui
mudando minha forma de falar e esquecendo minhas raizes para ndo passar vergonha a toda
hora”, reconhece com tristeza Apurina.

“Adaptar-se para sobreviver”, sussurra Darwin em nossos ouvidos. Isso ¢ 0o que os mais de
300.000 indios urbanos fazem todo dia nas diferentes cidades brasileiras. Torna-se normal ter
que buscar locais autorizados para fazer fogo para seus rituais, nao saber onde pescar, nao
poder tomar banho sem roupa em cachoeiras ou rios etc. “A relacdo do indio com a natureza ¢
umbilical. E uma relagdo de cura. Nosso psicologo é a mata, por isso muitos ndo suportam
ficar aqui”, explica a india ZawaraHu, conhecida também como Carolina Potiguara.

Nascida no Rio de Janeiro, seus avos emigraram da Paraiba nos anos setenta em busca de
trabalho. Uma vez aqui, sua avo trabalhou durante muitos anos como lavadeira. Qualquer
coisa era melhor que a pobreza asfixiante do Nordeste. Faz um ano que ndo vai a sua aldeia, e
quando se lembra da “liberdade perdida” de nadar em aguas cristalinas sob um sol brilhante,
seus olhos se enchem de lagrimas.

Para os povos indigenas ¢ um grande desafio restringir seu contato com a terra, que era sua e
na qual sdo maltratados hd mais de 500 anos. No inicio da coloniza¢do foi a mao de obra
indigena que manteve a industria agucareira, bem como o gado e os servicos domésticos;
depois seria substituida pela mao de obra escrava, em meados do século XVI. Ter escravos
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indios era questdo de prestigio e riqueza. Pessoas-objeto, tratadas como os ninguéns de
Eduardo Galeano': “Que ndo sdo seres humanos, mas recursos humanos; que nio tém rosto,
mas bracos; que ndo tém nome, mas numero”. A transi¢do do Brasil colonial para o Brasil
Império e Republica pouco mudou esse status quo de abuso e exploragao desumanos.

Com a chegada da ditadura militar (1964), também foram executados projetos
megalomaniacos, como a constru¢do de hidrelétricas e a gigantesca rodovia Transamazonica.
Obras faradnicas, que uma vez mais expulsaram milhares de indigenas de suas terras, com o
massacre, em nome do progresso, dos que ofereceram resisténcia.

As migragoes indigenas da aldeia para a grande cidade ndo sdo algo recente. Acontecem desde
meados do século XX, quando, entre as décadas de cinquenta e setenta, uma primeira onda de
mao de obra chega a metrépole para trabalhar na construgdo civil. Posteriormente, nos anos
noventa, ap6os a Constituicdo de 1988 e a ampliacdo da rede de ensino, essa migragdo se torna
principalmente universitdria, com a presenca de coletivos que ganham a vida com
apresentacoes artisticas e rituais.

Nas ultimas duas décadas, a diferenca entre zona rural e urbana se tornou minima tanto no
sentido migratério quanto de interacdo entre ambas. Com algumas grandes excegdes no Norte
do Brasil, a maioria das comunidades indigenas esta bastante urbanizada, fazendo fronteira
com ou sendo parte de cidades médias, como ¢ o caso da tribo Tupi-Guarani de Marica.

Mesmo assim, apesar de o convivio do indio na cidade ser um fato historico, o receio contra
sua pessoa nao diminui com o passar do tempo. “Existe uma imagem dupla de preconceito:
nos anos cinquenta era a invisibilidade de ndo poder dizer que era indio para ndo sofrer
discriminagado, razao pela qual muitos se faziam passar por nordestinos, caboclos... € ja nos
anos noventa, trata-se da negacdo de sua identidade indigena pelo fato de ndo viver mais na
aldeia nem ter fendtipo de indio”, diz o antropologo social Marcos Albuquerque.

Patricia MARTINEZ SASTRE,
brasil.elpais.com Brasil, 25/10/2015

I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

Segundo o ex-ministro brasileiro de Ciéncia e 2. O nome indigena de Apurind ¢ ....
Tecnologia Hélio Jaguaribe, continuar a (A) Potiguara.
preservar o indio no seu estado natural € .... (B) Afonso.

(A) um desafio para a sociedade brasileira. (C) ZamaraHu.
(B) uma impostura. (D) Xamakiry.

(C) conforme a Declaragdo dos Direitos dos
Povos indigenas aprovada pela ONU.

(D) uma ideia que pertence a um grupo de
militares.

! Bduardo Hughes Galeano, journaliste et dramaturge uruguayen, célébre pour avoir écrit Les Veines ouvertes de
l'"Amerique latine.
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(A)
(B)

©
(D)

(A)
(B)
©

(D)

(A)
(B)

©
(D)

(A)
(B)

©
(D)

(A)
(B)

©
(D)

13.
(A)
(B)
©
(D)

Os 24 anos de que fala o artigo dizem
respeito ....

a idade atual de Xamakiry.

a idade de Xamakiry quando veio para o Rio
de Janeiro.

ao tempo que decorreu desde a chegada de
Xamakiry no Rio de Janeiro.

ao tempo que durou o sonho de Xamakiry.

Nos primeiros anos da sua vida no Rio de
Janeiro, Xamakiry ....

ndo arranjou trabalho.

esteve muito doente dos nervos.

realizou o seu sonho, isto € trabalhar na
televisao.

fez de palhago para poder sobreviver.

Na opinido de Apurind, grande parte dos
indios que vivem nas grandes metropoles do
Brasil ...

nao suporta e regressa a aldeia que abandonou
alguns anos atrés.

ndo consegue arranjar trabalho.

envolve-se em trafico de droga.

acaba por perder sua identidade cultural.

No Rio de Janeiro, Apurind foi obrigado a
mudar a sua forma de falar e a esconder as
suas raizes para ....

se dedicar a causa indigena.

ndo sofrer com discriminagdo e
prejudicado.

continuar a gravar antincios nos estudios da
Globo.

ser contratado no Museu do Indio.

Ser

Segundo ZawaraHu, o mais insuportavel para
os indios urbanos ¢ ....

a dificuldade de encontrar um refugio na
cidade.

a tensdo entre as diferentes comunidades
indigenas.

as regras impostas pela vida na natureza.

a falta de convivéncia cotidiana com a
natureza.

(A)
(B)

©
(D)

(A)

(B)
©

(D)

10.
(A)

(B)
©

(D)
11.
(A)
(B)

©
(D)

12.
(A)
(B)

©
D)

Em meados do século XVI, a industria
acgucareira desenvolveu-se gracas ....

a exploracao dos indios e a escravidao.

a substitui¢do dos escravos negros pela mao de
obra india.

a uma mecanizagdo muito sofisticada.

a exploracdo da mao de obra que vinha da

Africa do norte.

Durante a colonizagdo ¢ mesmo durante o
Brasil Império, os indios ....

tinham os mesmos direitos que qualquer
branco brasileiro.

nao eram considerados como gente.

ocupavam um lugar preponderante na
sociedade brasileira.

organizavam as festas dos colonos ricos.

Com a chegada da ditadura militar os indios ....
recuperaram as terras que lhes foram roubadas
no inicio da colonizagao.

voltaram a ser expropriados das terras deles.
acolheram as obras faradnicas dos ditadores
com entusiasmo.

foram definitivamente expulsos da Amazonia.

Ap6s a Constituicao de 1988, muitos indigenas
procuram as cidades com o objetivo de ....

ter acesso a educagdo mantendo a sua cultura.
se sentirem mais livres e menos oprimidos
pelas regras impostas pelas leis em vigor no
Brasil.

se livrarem dos costumes e rituais indigenas.

se instruirem e adquirirem a cultura dos
brancos.

Como nos finais do século XX, a
discriminagdo no convivio social era o

principal problema dos indios, eles ....

viam um psicélogo para suportarem a situacao.
desenvolviam preconceitos que aumentavam o
receio dos brancos.

dissimulavam a sua identidade.

faziam uma depressao e deixavam de trabalhar.

II. LEXIQUE
Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

0 quanto estava errado (linha 4)
quantos erros tinha cometido

o que tinha entendido errado

a que ponto se tinha enganado
se tudo estava certo
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14.
(A)
(B)
©)
(D)

cabiam (linha 14)

se mexiam

entravam e saiam
tinham espago para estar
se balangavam



15. ser alvo de piadas (linha 24)

(A) objeto de risos e brincadeiras

(B) ponto de diferencas a respeito dos outros
indios

(C) comparado com um macaco

(D) se sentir atingido

16. passar vergonha (linha 25)
(A) sofrer oprobrio

(B) esquecer o oprobrio

(C) passar despercebido

(D) ser um desconhecido

17. cachoeira (linha 30)
(A) cascata

(B) piscina

(C) banheira

(D) lagoa

18. umbilical (linha 31)
(A) de orgulho

(B) de confianga

(C) de grande intimidade
(D) de honra

19. de cura (linha 31)
(A) entretenimento
(B) confronto

(C) consumo

(D) terapia

20. os ninguéns (linha 42)

(A) pessoas de importancia

(B) pobres diabos

(C) gente valorosa

(D) pessoas muito trabalhadoras

21. oreceio (linha 60)
(A) avinganca

(B) o desencanto

(C) omedo

(D) aresisténcia

22. preconceito (linha 61)
(A) ponto de vista irracional
(B) tolerancia

(C) modo de pensar

(D) aceitacao mutua

Parmi les solutions proposées, choisissez, pour les
questions 23 et 24, celle qui vous parait correspondre le
mieux au sens de [’expression soulignée.

23. cair de cara com alguém

(A) encontrar-se sem esperar com alguém
(B) sofrer por causa de alguém

(C) ter a surpresa de gostar de alguém
(D) sentir-se proximo de alguém

24. a mera razao

(A) a grande razao
(B) amarazio

(C) aexcelente razao
(D) a simples razao

III. COMPETENCE GRAMMATICALE
Choisissez la réponse adéquate.

25. .... cheguei ao Rio de Janeiro, deparei na rua
com indios vestidos com jeans e falando
portugués.

(A) Assim que

(B) Como

(C) Onde

(D) Qualquer um

26. Ficamos impressionados ... os desastres
naturais que ocorreram no ano passado na
Amazonia.

(A) com

(B) por

(C) para

(D) pelos

27. A disseminacdo cada vez .... dos telemoveis
esta também a aumentar o acesso as redes
sociais.

(A) maiores

(B) mais grande

(C) de mais em mais
(D) maior

28. Os indios, ao .... as capitais brasileiras, ficaram
desamparados.

(A) chegar

(B) chegarao

(C) chegares

(D) chegarem
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29.

(A)
(B)
©
(D)

30.

(A)
(B)
©
(D)

31.

(A)
(B)
©
(D)

32,

(A)
(B)
©
(D)

33.

(A)
(B)
©
(D)

34.

(A)
(B)
©
(D)

Nao pensei que os indigenas no Brasil .... tdo
discriminados.

forem

fossem

foram

estiveram

Duvido que o governo brasileiro .... medidas
para proteger as comunidades indigenas na
floresta amazodnica.

implementasse
implementara
implementa
implemente

E necessario .... os indios a ler e escrever
portugués.

de ensinar

ensinar

que ensinar

por ensinar

O menino foi levado para casa da avo paterna,
que fica numa .... no Norte do Brasil.
aldeiazinha

aldeizinha

aldeiasinha

aldeiassinha

A tribo Xavante
definitivamente
cinquenta.

cujo quem

cuja

com quais

com quem

passei a tarde foi
pacificada  nos  anos

Nem quero imaginar qual seria a minha
reacdo se .... de cara com um indio pintado de
negro na COP21!

cairia

caira

caisse

caia

35. Tiveram trés dias de férias, .... trés foram
passados a tomar banho no rio da aldeia.

de que

0s

dos quais

nos quais

(A)

(B)

©

(D)

36. No Brasil e no mundo, h& mesmo quem ....

utilizar, a favor da luta contra o aquecimento

global, o conhecimento indigena acerca da

terra.

(A) quer

(B) quiser

(C) queira

(D) queria

37. ... miséria, um numero crescente de pessoas

escolhe participar, em toda a parte, em agdes

comunitarias.

(A) Pela frente da

(B) Perante a

(C) A frente da

(D) Para a frente da

38. Os acessorios indigenas, sera melhor
quando formos a Manaus.

(A) comprar-os

(B) os comprar

(C) comprar-los

(D) compra-los

39. Digam o que .... a sociedade brasileira é muito
preconceituosa a respeito dos indios.

(A) dizem

(B) dizerem

(C) disserem

(D) disseram

FIN
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RUSSE

Hnumepesvio ¢ nucamenvruuyeu, raypeamom Hobenesckou npemuu no aumepamype 2015 2.,
Ceemnanoti Anexcuesuu.

— Caeryiana AJieKcaHAPOBHa, Mbl OecenoBaJu Jietom 2013 roga mepea BbIXOJOM B
MockBe kuuru «Bpemsi cekona x3ua». /1o Toro kak mup aporuyJa. Yro Bbl gymaere o
ero noBoporax?

— B 1990-¢ roasr Mbl ObuM poMaHTHKaMH. PeanbHOCTH Okazanachk Apyroi. beramu mo
ynunam ¢ kpukamu: «CBo0oa, cB000/a. ..» — ¥ HAKTO MOHSITHS HE UMEI, 4TO 3TO.

A Koraa 3aBOJibl OCTAHOBUJIUChb, MHCTUTYThI 3aKPBUIMCh, JIFOAW OKAa3aJIMCb Ha YJIHIC —
Cpa3y CTajio SICHO, YTO K CHUTyallud HUKTO He roTtoB. HHKTO 0c000 HE TpoayMbIBall
CcBO0Oy 3apaHee.

B Uexun, B Ilonpiie BcE-Taku HAILIACh AJIMTA, Y KOTOPOM OblIa IporpamMma JAeUcTBUH. Y
HaC TakoW OTBETCTBEHHOW dnuThl He Obwto. Hu Ha camom Bepxy, HU cpeau
MHTEJJICKTYaJIOB.

Xopomo, yro EnpuuH XO0Ts Obl HM30ekan TpakgaHCKOH BoMHBI UTO MaTepHalbHOCTh
JKU3HHU, KOTOPOH IpEeXkAe HE 3HAIM, 3aXBaTuia Joed. S qymaro: Kak HU CTPaHHO, IMEHHO
9TO OTBJIEKJIO YEJIOBEUECKYIO YHEPIHIO.

W Bapyr Mbl yBUIEIM COBEPILIEHHO APYrod Hapol. Sl He roBOpIO, YTO 3TOT HAPOA —
moxoil. Ho mMbI yBHUIIeTH, YTO MHOTO JIET KPHUYKUM O CBOOOJE... A JIFOAM XOTEIU U XOTST
IIPOCTO JIYYILIE KUTh.

[...] ¥ MeHs B KHUTE €CTh paccKa3 >KEHIUHBI: KOrJa OHA B TOJbI NEPECTPOUKH Iomnaja B
OONBHUILY, BCS Manata' ciymana eé pacckasbl O 3alPETHBIX HEJABHO TUCATENAX, O HOBOM
npasae. A B 1990-x, korjja oHa BHOBB nonaja B OOJbHHILY, HUKOMY 3TO OBIJIO yXe He
uHTepecHO. Bes manata, 3aTauB JbIXxaHMe, CIyllajga *KEHY «HOBOIO PYCCKOIO»: KaK OHH
noexanu B Eruner ga B Kakom OTeJe KHWIN. ..

— Iloyemy ke Hapox — mocjae MHOTOJIETHEr0 NMPa3sgHUKA JOMOBOACTBA — MHPHO
NPUHSLJI NajeHue pyoJs U pocT HeH?

— Ilotomy uro IlytuH ckazan marumdeckue cioBa: «Hac HOMKHBI yBakaTh, Mbl BEIUKas
Poccuss — Obutn, ecth 1 Oynem». M Hapon 3aroBopuil. A KOT/1a OH 3arOBOPHIT — CTPAIITHO
cTaJo.

Hamu cepxuiero. O1o BeuHas npobiiema Poccuu: eil HyxHa cBepxuzaes. YTo-To BbIe
YeJIOBEUECKON >KM3HU. 37eCh, Ha 3eMJIe — «HHU3» KW3HHM, a TJaBHAs XU3Hb — TaM,
HaBepxy. [...] Mbl Hagesunce Ha HOBoe mokojeHue. Hy BoT onu Beinmum B 2012 rony Ha
BoNoOTHYIO MIOIAAs> — M TOCYAAPCTBO C HUMH OOOIIIOCH KECTOKO. [...] MHUp MOJOIBIX
monel ceifuac cdokycupoBaH Ha cebe. B Hero Bxomur npodeccus. Bxonut uvactHas
KU3Hb: €3[UTh, CMOTPETb, JIOOUTh — C O3TUM Bc€ B mnopsake. COBEPIIEHHO HET
OOIIECTBEHHOTO MHCTUHKTA, 51 ObI cKa3ana. [...] Sl He cTopoHHUK peBomonwmii. Ho emé He
HAKOIUIEH HEKUH HOBBIN KYJIbTYpPHBII MOTEHIMA B OOIIECTBE.

1
2

Komuara B GosibHULIE.
6 mast 2012 rona Ha BoaoTHO# mI0ImLAany COCTOSIC OOIBIION OMITO3UIIMOHHBIM MUTHHT.
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[Tpoueccel, Tae 3aeTa KylnbTypa, MEHTaIbHOCTh, — OYEHb JTUTENbHBIC U ToyOokue. [la,

HEJb3s Cpa3y CIpalluBaTh: rae pe3ynbratel? Uepes rox onu OyayT wiu yepes Tpu? ITo TO,

o uém rosopu I1lanaMoB: mocie nareps 0cTaéTcs pa3BpalEHHBINA YeIOBEK — M Tanau’, u

JKepTBa mnanadya. MMmmepusi ynuia, a «KpacHBIM yesnoBek» ocrtaics. boriee Toro: o
40 mnpomosKaeTcs.

Msr1 3HaeM, kak «aemunu Poccutoy. [...] Henéxka 1990-x romoB dopmupoBana y srome
O0aHIUTCKOE co3HaHME. B ToM umcie M y TeX, KTO HUYero He NMoJay4ri. A 3a Hel Havyaiach
munatapusanus. Kak cienctBue, Kak mpojaoipkeHue. S 3ameTwiia, TOBOpS C JIOJbMHU B

Poccuu: uM crano IIOHATHO, KaK XHUTb. I[Ba,Z[I_IaTB JIET OBLJIO HEIMOHATHO. A cefiyac sSCHO:

45 Bparu BOKpYT, MBI YHIDKeHbI. C HAMH He cunTaroTcs. Ilcuxomorus 6paTsbr®.

— Bb1 rosopuiin B 2013-m, uyTo nmociae «BpemMeHH cekOHJ XI3HI» BepHETeCh K ABYM
HAYaThIM KHUTAM: O JIIOOBH H O CMEPTH.

— VY MeHs HeT OLIYILIEHHUs, YTO LUKJI «O KpacCHOM 4esoBeke» aonucadH. Ho s HaBpsn ju K
HEMY BepHYCh. B¢, 9To s 00 3TOM MOHsIa — 00 YTOIMH M YeIOBEKE, — €CTh B MOMX IIATH
50 xuHwurax.

$1 Xxo4y OCBOOOAMTH CBOETO Ireposi OT 3TOW OonbiIol mieu. Y moroBopuTh ¢ HALIMM Ke
YeJI0OBEKOM O BEIIax, HAa KOTOPBIX JIEPKUTCS KHU3Hb. A X JIBE: JTFOOOBH U CMEPTh. |...]

— IloxkenaiiTe, moxkajnayicra, 4To-undyab untareasasm « HoBoii razerbn.

— Sl B mocnenHee BpeMs 4acTo MOBTOPsO: «YTOOBI UThb, HyXkeH uiaeanuzm». W s Obl

55 TMOXenajla BCeM MyskecTBa uaeanu3ma. He 3a0biBaTh, kakas BCE-TakU NPEKpACHasi )KU3Hb.
Cama no cebe xu3Hb. Hayuutbcs panoBarbes, 4Tto Thl ecTh. IIpocto ectb Ha cBere. K
JIOJAM Halled [IUBUIIM3ALMM, HAIIErO BEeKa, HAILIEro MecTa 3Ta pajocTh BCE HE NMPUXOIUT.
Msl TpynHO edl yuumcs. YOuBaTh — 3TO y Hac Bc€ emé HopMaiabHO. M HeHaBuueTh
HopMaibHO. HenaBucTh Hac He criacéT. Tonbko M000Bb CIIAcET.

Hcrounnk: Hoas razera/ Beimyck Ne 143 ot 25 nexabps 2015
http://www.novayagazeta.ru

I. COMPREHENSION
Choisissez la réponse qui vous parait la plus adéquate en fonction du sens du texte.

1. HHMKTO NOHATHSA He UMeJ, uTo 3T0. (ligne 5) 2. Joam okasaiuch Ha yaune (ligne 6)

(A) HHUKTO HE MMOBEPHUII B ITO. (A) nroaw MONUIN TYJISATH IO YIIAIIAM

(B) HHKTO HE MOT CKa3aTb, YTO 3TO XOPOLIO. (B) mroau BhIIUIM HA AEMOHCTPALMIO

(C) HUKTO HE MOHMMAJ, YTO 3TO OBLIO MIO0XO. (C) mroam moTepsM MOYTH BCE U CTANU OCIHBIMHU
(D) HUKTO HEe MOHHWMAJ, YTO 3TO 3HAYUT. (D) mromm crtanu CTPOUTH HOBBIE YIIHIIBI

3 .HI/IIIO, MMpUBOAALIICE B UCIIOJIHCHUEC IIPUTOBOP O CMepTHOﬁ Ka3HU WIX TeJIECHOM Haka3zaHuu. B NEPEHOCHOM CMBICJIC

CHUHOHUM CJIOBA «MYYUTCIIbY.

4 TlpecTynHas rpynmnupoBKa, GaHAUTCKas rpyra
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3.

(A)
(B)
©
(D)

(A)
(B)
©
(D)

5.

(A)
(B)
©)
(D)

(A)

(B)
©
(D)

7.

(A)
(B)
©

(D)

13.
(A)
(B)
©)
(D)

14.
(A)
(B)
©
(D)

Ha camoM Bepxy (ligne 10) 8. 3necwn, Ha 3emJie — «HU3Y KU3HM (ligne 29)
B BBICIIIEM PYKOBOJICTBE CTPAHBI (A) >xu3HB 0€3 BEICOKUX HICAIOB
B BBICOKHX TOpax (B) HU3KMIT ypOBEHB KU3HU
Ha BEPXHUX ATaKaX JOMOB (C) BBICOKMIT yPOBEHB KU3HU
Ha KpBIIIIe JoMa (D) wmHTEepecHas KU3Hb
pacckasbl 0 3alpeTHbIX HeJaBHO 9. Mnup MOJIOJBIX Jronei ceiiuac
nucartensx (ligne 19) cokycupoBan Ha ceoe. (lignes 31-32)
0 CaMBIX JTFOOUMBIX IMHCATEIIX (A) momomple IO TyMaroT TOIBKO O CBOUX JIeJIaxX.
0 IJIOXMX MUCATENSIX (B) Mo0y10€XH JIFOOUT CMOTPETh (POKYCHI B ITUPKE.
00 MHOCTPAHHBIX TTHCATENSIX (C) MoutombIe JIFOM XOTAT OCTPOUTH HOBBIN MUP.
0 THCATeNsIX, YbM MPOU3BEIACHHUS HE TPOIILIH (D) momonéxs B Poccum 04eHb MOTUTH3UPOBAHA.
HeH3ypy
10. MpI 3Haem, kak aeausn Poceuro (ligne 41)
3aTauB aAbixanue (ligne 21) (A) xax pacnanaces Poccust
0e3 mHTEpEeca (B) kax »nmUTHI TOAETHIIN OOTaTCTBA CTPAHBI MEXKIY
OUYCHb BHUMATEIHHO coOoii
HE TTIOHUMas, 0 YEM HIET peUb (C) xax Poccus momyd4ria HOBbIE TEPPUTOPHH
C HEHABUCTHIO (D) xak Poccus moTepsiia 9acTh CBOUX TEPPUTOPUI
nocJje MHOT0JIETHEr0 Nnpa3IHuKAa 11. C mamu He cuntamoTes (ligne 45)
aomoBoacTBa (ligne 23) (A) He XOTAT HAC MMEPECUNTATD
Mocjae TOTO, KaK JOJNroe BpeMs 3aHUMAaIIUCh (B) Hac cuMTarOT rIyIBIMA
JIUIIb CBOUM JIOMOM (C) Hac cuuTarOT YMHBIMU
TIOCJIe TOTO, KaKk MHOTO JIET He padboTanm (D) mamm WHTEpECHI HE YUNUTHIBAIOT
rociie BECENBbIX, CEMEHHBIX MPa3THIKOB
MOCJIE JIOJITUX, IPUSTHBIX KAHUKYIT 12. ¥ MeHs HeT OIIyIIeHHsl, YTO LHKJI O
«KpacHOM 4YejoBeke» nomucas (ligne 48)
Hy:kHa cBepxujes (ligne 28) (A) g HE gymaro, 9TO IHMKII O «KPACHOM HYEJIOBEKE»
HYKEH KaKOH-HUOY/b IUIaH Pa3BUTHUS HAIUCaH JIOCTYITHO BCEM
HY’KEH OYCHb BBICOKHI YPOBECHb KU3HU (B) MHe He KaxeTcs, 4TO BCE YXKE HAIUCAHO O
HYy’KHa U/ies, KOTopas 1aéT 9eJI0BEKY BBICIIINI «KpacHOM YEIIOBEKE)
CMBICIT KU3HHU (C) y mens BooOIie O0BIIE HET KEJIAaHUS TTHCATh
HY)KEH Xapu3MaTHUECKUH JTuaep (D) MEEe He XodyeTrcs JyMaTh O «KPacHOM
YEIIOBEKEeY.
II. LEXIQUE

Choisissez la réponse qui vous parait la plus appropriée en fonction du contexte.

orBercTBeHHbIH (ligne 10)
WHTEPECHBIN

OoraTbrit

KOTOPBI OTBEYAET Ha BOIIPOCHI
KOTOPBIH TOTOB JIeNIaTh TO, YTO HYKHO

n3oexars (ligne 12)
HE CJIeNaTh YTO-TO
yOexaTh
UCIIOJIb30BaTh
XOTETh
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15.
(A)
(B)
©)
D)

16.
(A)
(B)
©)
D)

crpanHo (ligne 13)
XOPOILO

CTpAIITHO
CTapOMOJIHO
YIAUBUTEIHHO

oteneys (ligne 14)

HaIIPaBUTb MBICIIU B JAPYTYIO CTOPOHY
YCWINTh ABUKCHUC

0CJIA0UTH BOJIIO

0CBOOOINTE



17. «HoBbI# pycckuit» (ligne 21)

(A) peOGEHOK, KOTOpBIN POMMICS TOCIE pacmana
CCCP

(B) BepnyBumiics B Poccuto amurpant

(C) dgemoBek, KOTOPBIM CcTam  OoraTelIM B
noctcopeTckoil Poccun

(D) unTennexryanbHas snuta Poccun

18. manenue pyOns (ligne 24)
(A) moBsIIeHUE Kypca pyOus

(B) neBambBanus pyoms

(C) nukBupaumsi pyonst  Kak
BJIOTHI

(D) co3manme HOBOM BaJTIOTHI

HaIlMOHAJILHOU

19. Beunas (ligne 28)
(A) Oynymast

(B) mocrosHHasA

(C) ceroassimHss
(D) BuepamHss

20. croponnuk (ligne 34)
(A) TOT, KTO MPOTHUB

(B) Tor, xTO 32
(C) TOT, KTO CTOMT B CTOPOHE
(D) ToT, KTO MOHMMaeT

21. «xpacHblit yenoBek» (ligne 39)
(A) wmanmeen

(B) denoBek B rHEBE

(C) kpacuBslii 4eJIOBEK

(D) THI COBETCKOTO YEJIOBEKA.

22. wmbl yHmkensl (ligne 45)
(A) HaMm KaxKeTcd, 4TO HaC He YBaXKAIOT

(B) MBI uyBCTBYEM, UTO HAC JIFOOST
(C) MBI IFOOUM KU3HB
(D) MBI XUBEM IIIIOXO

23. napsg au (ligne 48)
(A) obGs3arenbHO

(B) HU IpW KaK¥X YCIOBUAX
(C) Moxer ObITh
(D) manoBeposaTHO

24, myxectso (ligne 55)
(A) Bepa

(B) cmemocts

(C) namexna

(D) nt060Bb

III. COMPETENCE GRAMMATICALE
Choisissez la réponse adéquate.

25. Yepes rosl Mbl IPUEAEM .... B MOCKBY.
(A) yuntcs

(B) yuuthCs

(C) yummcs

(D) yuuth

26. DTO 0J1HA U3 .... KAPTUH XYAOKHUKA.
(A) camas noporas

(B) cambIx noporux

(C) camyro moporyro

(D) nmopoxe

27. ... Tbl CErOMHS BCTPEUACIILCS?
(A) Kem

(B) K komy

(C) Cxem

(D) O xom

28. Uepes MATH .... OH HOTYUYUT AUILIOM IOPHUCTA.
(A) Tonm

(B) romos

(C) nero

(D) ner
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29. Jlokmnan, ... MNOATOTOBHJI W3BECTHBIA YUEHBIM,
ormy0JIMKOBaH B Ipecce.

(A) xakoi

(B) xakum

(C) xoropsrii

(D) gem

30. Oumn 3a0bUT TOCTABUTE .... TIOIHKCE.
(A) eé

(B) ero

(C) cnoit

(D) cBoro

31. ®paHniry3sl XOIAT B KHHO .... PyCCKHE.
(A) uame, uto
(B) 4acro, uTo
(C) yame, uem
(D) wacro, uem

32. Hama d¢upma Kaxknmplii TOJ TpHe3KaeT Ha
ITY ...

(A) BbICTaBKAa.

(B) BBICTaBKE.

(C) BoICTaBKYy.

(D) BbICTaBKOM.



33. Poccuiickue  CTYIEHTHI
(hpaHITy3CKUMU ....

(A) memyraTbl.

(B) memyraramu.

(C) nmemyratam.

(D) memyratax.

BCTPETUIINCH

34.
(A)
(B)
©)
(D)

puexaTb
C€3IUTh
10€XaTh
BBHEXATh

35.
(A)
(B)
©
(D)

ITOT JUAIOT .... OBITH YECTHBIM.
MO>KHO

JOJDKEH

JOJKHO

HYXEH

36. Omna pabotaer B omepe: OHa .... B XOpe.
(A) meér

(B) momzér

(C) mamaet

(D) moér

Ham rocts noikeH ... 3aBTpa u3 [apuxa.

37. MpsI HE 3HaeEM, .... OH Ha 3Ty KOH(PEPEHIIHIO.
(A) ecnm mpuener

(B) mpuener nu

(C) npuener

(D) Oynmet mpue3xarb

38. CryneHTtaM .... CIIymIaTh €To JEKITHIO.
(A) mHTEpecHO

(B) umnTepecHast

(C) uHTEepecHyrO

(D) c maTEpecom

39. Emy .... mobenuTh Ha BEIOOpax.
(A) xotemoch OB

(B) xouer

(C) xotetnCs

(D) xoten Obr

FIN
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